
 

1. Solve and verify: 
a. |4𝑥 − 1| = 3 
b. ඥ𝑦 = 7 

c. √3𝑥 − 5 = 4 
d. 12 − √2𝑘 = 6 
e. √3𝑚 + 12 = 1 − 2𝑚 

f. √𝑥 + 4 + √1 − 𝑥=3 
g. −|3 − 7𝑥| = 4 
h. √8𝑥 + 1 − 𝑥 = 2 
i. |2𝑥 − 5| = 5𝑥 − 3 
j. 5|𝑘 + 3| − 16 = 3|𝑘 + 3| + 4 

2. Solve: 
a. |2𝑥 + 7| ≥ 5 
b. |6 − 2𝑥| ≤ 8 
c. |4 − 3𝑥| ≤ −5 
d. |2𝑥 + 5| > −1 
e. |5𝑥 − 2| < 3 

3. Simplify and evaluate, if possible: 

a. 81ି
య

ర 
b. 16଴.ହ 

c. ቀ𝑥
మ

యቁ
ଽ

÷ (9𝑥଼)
భ

మ 

d. 6
భ

వ × 6
భ

య 

e. (243𝑎ଶ଴𝑏ଵ଴𝑐ହ)
య

ఱ 

f. ൫௔య௕వ൯
భ
య൫௔ర௕మ൯

భ
మ

ቆ௔
భ
మ௕

భ
యቇ

ల  

g. ቀ𝑘
ఱ

ల + 4𝑘
భ

లቁ ቀ𝑘
ఱ

లቁ 

h. 4|−5| − 3|7 − 5| + 2|3 − 8| 
i. √4𝑎ଶ 

j. ට
ଵ

ସ
+ ቀ

ଵ

ଽ
ቁ
ିଶ

− 8ି
భ

య 

k. 25
భ

మ + 32଴ − √125
య  

l. 𝑥ି
య

మ ቀ
ଵ

௫
ቁ 

4. Simplify fully: 
a. −4√32 − √50 + 7√200 
b. 4൫2√3 − 5√2൯ − 2൫3√3 + 4√2൯ 

c. 2√5
య

+ 3√40
య

− 8√135
య  

d. ൫3√2 + 5√3൯
ଶ
− ൫√50 − √32൯൫√2 − √18൯ 

e. ඨ
ඥ௫య௬ఱ√௬

௫
మ
య௬

భ
మ

ర
 

f. ൫3√2 − 1൯
ଶ
− 4൫2√2 + 1൯ 

5. Show that √10 − 3 is a root of the equation 𝑥ଶ + 6𝑥 − 1 = 0. (Do not solve) 
6. Simplify and leave answers in simplest mixed radical form 

a. 2√3 ∙ 5√6 

b. ିଵସ√ଶସ

ଶ√଺
 

c. 3√7 − √5 + 2√7 + 4√5 
d. 3√27 − 2√50 − 5√75 + 2√32 



 

e. 2√2൫5√6 − 3√2൯ 

f. ൫2√5 − 4√3൯൫√5 + 2√3൯ 
7. Rationalize the denominator 

a. ଶ√ଶ

√ହ
 

b. ଷ

√ଵଶ
 

 


